MCQ PRACTICE TEST — 3 (X CLASS — PHYSICAL SCIENCES)(Human eye and colourful world)
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The phenomena of light responsible for the working of the human eye is ( )
a. Reflection b. Refraction c. Power of accommodation d. Persistence of vision
The change in focal length of an eye lens is caused by the action of the a) pupil. b) retina. c) ciliary muscles. d) iris.( )

Correct diagram to show the path of a ray of light passing through a glass prism is ( )
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In the adjacent diagram correctly marked angles are . ( )
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Blue colour of the sky and twinkling of stars are due to ( )
a) Reflection and Atmospheric refraction of sunlight. c) Dispersion and scattering of sunlight.
b) Scattering and Atmospheric refraction of sunlight. d) Atmospheric refraction and scattering of sunlight.
Aparna is not able to see clearly the questions written on the black board placed at a distance of 5 m from her. The
defect of vision she is suffering from a) myopia b) hypermetropia c) presbyopia d) all of these ( )
Swathi can clearly see up to a maximum distance of 100 cm only. The power of the lens required to correct her defect is
a) 1D b)-1D c) 100D d)-100D ( )

The near point of an eye is 150 cm.The focal length of the convex lens that would correct this defect of vision is ( )
a) 30cm b)10cm c¢)0.3cm d) 1cm
A transparent refracting material which is bounded by two plane refracting surfaces is known as a ( )
a) prism b) convex lens c) glass slab (d) all of these
The character that remains unchanged as light moves from one medium to another medium is ( )
a) Velocity b) wavelength c) frequency d) all of these
The colored light that refracts most while passing through a prism is a)violet b)red c)blue d)yellow ( )
Red light is used for danger signal as ( )

a) it has higher wavelength b) it can travel large distance c) it suffers least deviation d) it suffers highest deviation
The image formed by retina of human eye is a) Virtual & erect b) Real & inverted c) Virtual & inverted d) Real & erect ( )
You have given a prism with an angle 60°. It produces an angle of minimum deviation of 30°. Then the refractive index of

the material of that prismis  a) 22 b) V2 c) 2/72 d) b&c ( )
Doctor advised to use 4D lens. Then the focal length of the lens is a) 50cm b) 75cm ¢) 25cm  d) 33.3cm ( )
Angle of deviation is the angle ( )
a) between two refractive faces of the prism b) between emergent ray and incident ray

c¢) between refracted ray and incident ray d) between emergent ray and refracted ray(inside the prism)

Shiva cannot see objects nearer than 75 cm but can clearly read the banners placed on the roadside from a distance.His
defect of vision is a) myopia b) hypermetropia  c) presbyopia d) all of these ( )
A ray of white light is passed through a triangular glass prism, then the colours ‘A’ and ‘B’ are A ( )
a) red and violet b) blue and green c) red and blue d) violet and orange -"‘)’r > ",

No. of times a ray under goes refraction on passing through a prismis a)1 b)2 ¢)3 d)4 ( )
Saibaba uses spectacles of focal length -50 cm, then the power of his lensis a)-1D b) 2D c¢)3D d)-2D ( )
Suresh with myopic eye cannot see objects beyond 1.2metre distinctly. Then the power of lens he has to use is ( )
a)-0.83D b) 0.83D c)0.61D d) -0.61D

The far point of myopic person is 80 cm in front of the eye. Then the power of lens he has to use is ( )
a)-1.5D b) 1.25D c)-1.25D d) 1.5D

A Hypermetropic person has a least distance of distinct vision of 40cm. The power of lens required for him is ( )
a)-1.5D b) 1.25D c)-1.25D d) 1.5D

If Myopia — concave lens then Hypermetropia — a) Concave mirror b) convex lens c) concave lens d) prism ( )
Bi-focal lens are required to correct a) myopia b) hypermetropia c) presbyopia d) all of these ( )
The focal length of the eye lens increases when eye muscles ( )

a) are relaxed and lens becomes thinner b) contract and lens becomes thicker
c) are relaxed and lens becomes thicker  d) contract and lens becomes thinner
The least distance of distinct vision for a man with normal vision is about  a) 25m b) 2.5cm c¢) 25cm d)2.5m ( )

The light sensitive cell present on retina and is sensitive to the intensity of light is: ( )
a.Cones b.Rods c.Both rods and cones d. optic nerve
The amount of light entering the human eye is controlled by a) Ciliary muscles b) Pupil c) Cornea d) Iris ( )

Which colour that refracts most while passing through a prismis a) Yellow b) Violet c)Blue d)Red ( )
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